Note: given the fact that you’re ‘obliged’ to answer the weekly questions, try to profit the most from the task:

- Start by reading the lecture notes (twice)
- Looking at them as little as possible, answer the questions.

The answers to the Week 8’s questions should be handed to me at the beginning of the lecture of April 19th. They should be manuscript (not typewritten) and preferably based on schemes (as I do in the whiteboard). Keep a copy for yourself.

Please write WEEK 8 in bold at the beginning of your answers.

Week 8 – Ch 6: Replacement of MP by FP (continuation)
1.In 15 lines, present the main elements of the alternative policy architecture.

2. a) How has Japan kept the economy near full-employment over the past 25 years? Explain using the circular flow of expenditure-output-income.
b) What was the effect on the debt-to-GDP ratio?

c) Could have this led to a high tax burden under the standard policy architecture? Explain.
d) The same question under the alternative policy architecture.

3.  If the debt-GDP ratio rises to very high levels, savers may initiate massive sales of B10 in the secondary market.

a) Why?

b) What will be the effect under the standard policy architecture? Explain.

c) What will be the effects under the alternative policy architecture? Explain the effects on long-term rates and present the operations between the parties involved and the corresponding effects on their balance-sheets.

d) Under c), public debt in the form of bonds will lead to an increase in which variables? Explain.
4. If the debt-GDP ratio rises to very high levels, savers may refuse to buy new bonds issued by the government to redeem its old bonds.
a) What will be the effect under the standard policy architecture? Explain.

b) What will be the effects under the alternative policy architecture? Present the operations between the parties involved and the corresponding effects on their balance-sheets.

c) Under c), public debt in the form of bonds will lead to an increase in which variables? Explain.

5. If the debt-GDP ratio rises to very high levels, savers may refuse to buy new bonds issued by the government to fund a new deficit.

a) What will be the effect under the standard policy architecture? Explain.

b) What will be the effects under the alternative policy architecture? Present the operations between the parties involved and the corresponding effects on their balance-sheets.

6. If the debt-GDP ratio rises to very high levels, savers may (1) initiate massive sales of B10 in the secondary market, may refuse to buy new bonds issued by the government to (2) redeem its old bonds and (3) to fund a new deficit, the balance-sheets of the three parties involved will be affected.


a) Present the changes in those balance-sheets.

b) What will happen to the quantity of money? Explain.


c) What will happen to the quantity of bank reserves? Explain.


d) Banks will be left with excess reserves. Why?
7. In essence, the QE operations in recent years are the same as those described in the previous questions. But there is a difference. Which one?

